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Foundations for College Algebra
Spring 2017 - M. Goodroe
Exam #3
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Factor out the GCF from the polynomial
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Factor the four-term polynomial by grouping,
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Factor the trinomial completely. If the polynomial cannot be factored, write "prime."
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Factor completely,
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Factor the binomial completely.
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Factor the sum or difference of two cubes.
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Solve the equation.
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Simplify the radical expression. Assume that all variables represent positive real numbers.
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Use the square root property to solve the equation,
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Solve the equation by completing the square,
18)x2 + 16x +53=0
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Answer Key
Testname: EXAM3(04-19-2017)

1) 10{(4x + 1)
2) 4m3(10m5 + 8m4 - 3)
3) (x+7)(B+y)
4) (x+ 1)(y + 8)
5) {x-6)(x+7)
6) (x+12)(x - 9
7) prime
8) (7x + B){x - 3)
9) (4x + 3)(5x + 4)
10) (Z + 2)(z - 2)
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